_ ¥5]
-
nH
<

Q

DN

o
RS
=
Ly
oL

DS

e
¥n}

NS

]
KN
a4
W
L
=
tn

Ajuo sasodind uollEWICjU| JOj Pash ale JUBLUND0P SIY3 Ul papnjoul Blep pue siaquunu Jed ‘suopdiosap jonpoid ||v
JIpl|2eLWIE 1B]Iq @23pEes 13|1418A aA I1B|BIELINU BAJE ‘LIBjELLE|YIDE UNIN WNY I¥EPUBLUNYOP NG K

SINALI M3N




44 5 T&KNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT KEF. A-1006

Suspension Stabilizer Bar Link

¢

Weight: 0533  Length: 200  Bolt Metric: M12X1,5

MODEL NO BODY CODE

q7 4L

TEKNOROT REF: A-1006
Suspension Stabilizer Bar Link

¢

Weight: 0533  Length: 200

MODEL NO BODY CODE

CAYENNE 955

Boit Metric: M12X15

2002-2010

tober 2020

ADAPTABLEFOR ALJ/

chassis no from
418030301

OEMNO

YEAR DIRECTIONS
/L05054660, 7L0505466C,

2006-2015 Rear Right 95533307021
ADAPTABLEFOR PORSCHE
YEAR ONLY
2008-2010

OEMNO

YEAR DIRECTIONS

7L0505466D, 705054660,

Rear Right 95533307021

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/A TECNOROT

STEERING 6 SUSPENSION PARTS ber2020

TEKNOROT REF: A-1006 ADAPTABLEFOR PORSCHE
Suspension Stabilizer Bar Link "

¢

Weight: 0533  Length: 200  Bolt Metric: M12X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. /L05054660, 7L0505466C,
CAYENNE 92A 2011-2017 Rear Right 95533307021

TEKNOROT REF: A-1006 ADAPTABLEFOR /OL KSWAGEN
Suspension Stabilizer Bar Link VEAR ONLY
2008-2010
Weight: 0533  Length: 200  Bolt Metric: M12X1,5
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
, 7L05054660, 7L.0505466C,
TOUAREG (7LAT7LE7L7 ) 2002-2010 Rear Right 95533307021

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF. A-1006 ADAPTABLEFOR VOLKSWAGEN
Suspension Stabilizer Bar Link

Weight: 0533  Length: 200  Bolt Metric: M12X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. /L05054660, 7L0505466C,
TOUAREG 7P 2010-2017 Rear Right 95533307021

TEKNOROT REF: A-1007 AoAPTABLEFOR ALJ
Suspension Stabilizer Bar Link chassisno from |
4L8030301
Weight: 0533  Length: 200  Bolt Metric: M12X1,5
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
7105054650, 70505465,
qg7 4L 2006-2015 Rear Left 95533305921

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



S\ TKNOROT

OTE . TEE
QW srecrins o suspensian panee tober 2020

TEKNOROT REF: A-1007 ADAPTABLE FOR PORSCHE
Suspension Stabilizer Bar Link VEAR ONLY

2008-2010

Weight: 0533  Length: 200  Bolt Metric: M12X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
7L05054650, 7L0505465C,
CAYENNE 955 2002-2010 Rear Left 95533306921

TEKNOROT REF: A-1007 ADAPTABLEFOR PORSCHE
Suspension Stabilizer Bar Link i

Weight: 0533  Length: 200  Bolt Metric: M12X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
7L0O5054650, 7L.05054650,
CAYENNE 92A 2011-2017 Rear Left 95533306921

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




/A TECNOROT

STEERING 6 SUSPENSION PARTS DE'I'QUZU

TEKNOROT REF: A-1007 ADAPTABLEFOR V/OLKSWAGEN
Suspension Stabilizer Bar Link VEAR ONLY
2008-2010

Weight: 0533  Length: 200  Bolt Metric: M12X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

7L05054650, 705054650,

TOUAREG (7LA7LB7L7)  2002-2010 Rear Left 95533306921

TEKNOROT REF: A-1007 ADAPTABLEFOR VOLKSWAGEN

Suspension Stabilizer Bar Link

Weight: 0533  Length: 200  Bolt Metric: M12X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
7L0O5054650, 7L.05054650,
TOUAREG /P 2010-2017 Rear Left 95533306921

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

k) STEERING 6§ SUSPENSION PARTS r2020

TEKNOROT REF: A-1016 ADAPTABLEFOR ALIDI
Suspension Stabilizer Bar Link

’3;

Weight: 0227  Length: 94  Bolt Metric: M10X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
A8 4E 2002-2010 Rear Inner 4E05054656
TEKNOROT REF. AC-256 ADAPTABLEFOR AGUIRA
Suspension Stabilizer Bar Link moog type

Weight: 0186  Length: 100  Housing Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

CL YAL 1997-1999 Front KI90122, 513115M4010

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TeNOROT

yy

TEKNOROT REF: AC-256 ADAPTABLE FOR AGURA
Suspension Stabilizer Bar Link moog type '

Weight: 0186  Length: 100  Housing Metric: M10X1,25

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
TL 1stGen, UAI-UA3  1996-1998 Front K90122, 51311SM4010
TEKNOROT REF. AC-256 ADAPTABLEFOR HONDA
Suspension Stabilizer Bar Link moog type

Weight: 0186  Length. 100  Housing Metric: M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

ACCORD v 1990-1993 Front KI90122, 513115M4010

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TSNOROT

k’ STEERING 6 SUSPENSION PARTS ! 2020

TEKNOROT REF: AC-256 ADAPTABLE FOR HONDA
Suspension Stabilizer Bar Link moog type

Weight: 0186  Length: 100  Housing Metric: M10X1,25

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
ODYSSEY 1st Gen 1995-1998 Front K90122 513115M4010
TEKNOROT REF: B-1021 ADAPTABLEFOR BMW
Steering Tie Rod End
.

Weight: 0436  Length: 147  Bolt Metric: M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

3-SERIES G20, G621 2018- Front Right 321066680698

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




ry
{5 T=NOROT

TEKNOROT REF: B-10211023 ADAPTABLEFOR BMW
Steering Tie Rod Assembly

€&~

Weight: 1006  Length. 328  Bolt Metric. M14X1,5  Housing Metric: M16X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
3-SERIES G20, 621 2018- Front Right 32106880696
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
g B-1021 Stear ”;% dT/ erod Front 32106880698
— i B-1023 Steering Tie Rod Front 32106880695% 32106880697
TEKNOROT REF. B-1022 ADAPTABLEFOR BMW
Steering Tie Rod End
&,
G o

(<) :

Weight: 0436  Length: 147  Bolt Metric: M14X1.5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

3-SERIES G20, G621 2018- Front Left 321066680697

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



‘\ ‘A TXNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: B-10221023
Steering Tie Rod Assembly

$

Weight: 1006  Length: 328  Bolt Metric. M14X1,5

MODEL NO BO0OY CODE
3-SERIES 020,621
COMPONENTS NUMBER
&
ey B-1022
—_— B-1023

TEKNOROT REF: B-1031
Steering Tie Rod End

o

=)
F

Weight: 0,458  Length: 160  Bolt Metric: M14X1,5
MODEL NO BOOY CODE
X3 GO1, F97

Housing Metric: M16X1,5

YEAR DIRECTIONS
2018- Front Left
NAME DIRECTIONS
Steer/rg7 ;/e Rod Front
Steering Tie Rod Front

Housing Metric: M14X1,5

YEAR DIRECTIONS

2018- Front Right

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR BMW

OEMNO

32106680695

OEMNO

32106680697

32106860695* 32106660697*

ADAPTABLEFOR BMW

OEMNO

32106871893



{$ T=NOoROT

TEKNOROT REF: B-1031 ADAPTABLEFOR BMW
Steering Tie Rod End

o

=)
F

Weight: 0458  Length: 160  Bolt Metric: M14X1,5  Housing Metric. M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
X4 GO2 F98 2017- Front Right 32106871893
TEKNOROT REF: B-1032 ADAPTABLEFOR BMW
Steering Tie Rod End

E ]

Weight: 0458  Length: 160  Bolt Metric: M14X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

X3 GO1, F97 2018- Front Left 32106871889

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: B-1032 ADAPTABLEFOR BMW
Steering Tie Rod End

E ]

Weight: 0458  Length: 160  Bolt Metric: M14X1,5  Housing Metric. M14X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
X4 GO2 F98 2017- Front Left 32106871889
TEKNOROT REF: B-1046 Wi = )

Suspension Stabilizer Bar Link

Weight: 042  Length: 317  Bolt Metric. M12X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

X3 GO1, F97 2018- Front Right 31356681092

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF.: B-1046 ADAPTABLEFOR BMW
Suspension Stabilizer Bar Link

Weight: 042  Length: 317  Bolt Metric: M12X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
X4 GO2 F98 2017- Front Right 31356681092
TEKNOROT REF: B-1047 Wi = )

Suspension Stabilizer Bar Link

-

Weight: 042  Length: 317  Bolt Metric. M12X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

X3 GO1, F97 2018- Front Left 315356681091

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



e —
{» T&XNOROT

TEKNOROT REF: B-1047 ADAPTABLEFOR BMW
Suspension Stabilizer Bar Link

it L ik

-

Weight: 042  Length: 317  Bolt Metric: M12X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
X4 602, F98 2017- Front Left 51356881091
TEKNOROT REF. B-1068 Anss I
Suspension Control Arm and All xOrive models except
Ball Joint Assemnbly 550d x0rive
- ‘é
D agr™

Weight: 2344  Length: 3955  Bolt Metric: M16X15

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
. . Front Right
5-SERIES 630,631 2017 L 31106861166
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
G 581288 Lontrol Arm Front Lower 31106861162* 31106861161*
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF: B-1069 ADAPTABLEFOR BMW
Suspension Control Arm and All xOrive models except
Ball Joint Assemnbly 550d x0rive

Weight: 2344  Length: 3955  Bolt Metric. M16X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
Front Left Lower
5-SERIES 630, 631 2017- o 31106861165
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
& SB1288 Control Amn Front Lower 31106861162* 31106861161*
Bushing
TEKNOROT REF: CD-223 ADAPTABLEFOR CADILLAG

Steering Tie Rod moog type
YEAR ONLY

h 2005-2008

Weight: 0,58  Length: 106  Bolt Metric: M14X1,5  Housing Metric: M14X2

OEMNO

MODEL NO BODY CODE YEAR DIRECTIONS

ST7S 1st Gen 2005-2011 Front EVB0958

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&’\NOROT

TEKNOROT REF: CD-233 ADAPTABLEFOR CADILLAC
Steering Tie Rod moog type

Weight: 063  Length: 108  Bolt Metric: M14X15  Housing Metric.: M14X2

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
SRX 2004-2009 Front EVB00269, 15257558
TEKNOROT REF: CH-1063 ADARTABLERCRNCIHIEVROLE T
Steering Tie Rod moog type RWD
YEAR ONLY
19899-2000

¢ o e

Weight: 0715  Length: 331  Bolt Metric. M14X1,5  Housing Metric: M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

SILVERADO 2500 1999-2010 Front Inner ES3488, 12471385, 26059209

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: CH-1063 ADAPTABLEFOR CHEVROLET
Steering Tie Rod moog type RWD
YEAR ONLY
19399-2000

¢ o e

Weight: 0715  Length: 331  Bolt Metric: M14X1,5  Housing Metric: M168X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
SILVERADO 2500 1899-2010 Front Inner ES3489, 12471385, 26059209
TEKNOROT REF.: CH-1063 ADAPTABLEFOR GMIC
YEAR ONLY
18999-2000

¢ o e

Weight: 0,715  Length: 331  Bolt Metric: M14X1,5  Housing Metric: M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

SIERRA 2500 1999-2010 Front Inner ES3488, 12471385, 26059209

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: CH-1063 ADAPTABLEFOR GMIC
Steering Tie Rod moog type RWD
YEAR ONLY
19959-2000

¢ o e

Weight: 0715  Length: 331  Bolt Metric: M14X1,5  Housing Metric: M168X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
SIERRA 2500 1999-2010  Frontinner £53489, 12471385, 26059209
TEKNOROT REF. CI-667 A RN OEN
Suspension Stabilizer Bar Link Chassis no. to: 15380

Weight: 0438 Length: 335  Bolt Metric. M10X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

0s7 2017- Front 9831547080

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A T=
\; TeNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: DO-357
Suspension Stabilizer Bar Link

moog type
=
£ f _l
Weight: 0477  Length: 93  Bolt Metric: M12X1,75
MODEL NO BODY CODE YEAR DIRECTIONS
DURANGO 2nd Gen 2004-2009 Rear
TEKNOROT REF. DO-361
Steering Tie Rod End 4WD-8 lug wheels-Moog
Type
YEAR ONLY
2006-2008

Weight: 0956

Length. 156

MODEL NO BODY CODE

RAM 1500 4th Gen

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

YEAR

2003-2008

Boit Metric: M14X1,5  Housing Metric: 1" 168G 2A RH

DIRECTIONS

Front Left Outer

er 2020

ADAPTABLEFOR JODGE

OEMNO

KB0947, 52113285AA, 5559892644,
5553969268AB

ADAPTABLEFOR [JODGE

OEMNO

ES3625, 5066146AB



e —
{» T&XNOROT

TEKNOROT REF: DO-361 ADAPTABLEFOR [JDGE

Steering Tie Rod End 4WD-8 lug wheels-Moag
Type

Weight: 0956  Length: 1566 Bolt Metric: M14X1,5  Housing Metric: 1" 18G 2A RH

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
RAM 2500 4th Gen 2003-2008  Front Left Outer ES3625, 50686146AB
TEKNOROT REF: DO-361 ADAPTABLEFOR. [JODGE
Tvpe

Weight: 0,956  Length: 156  Bolt Metric: M14X1,5  Housing Metric: 1" 166 2A RH

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

RAM 3500 4th Gen 2003-2008  Front Left Outer ES3625, 508614648

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




[ =
{» T&XNOROT

TEKNOROT REF: F-1018 ADAPTABLEFOR FIAT

Suspension Control Arm and
Ball Joint Assembly

Weight: 3999  Length: 3475  Bolt Metric: O

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
. Front Right
STRADA 2013 e 51769984
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
388 F-1014 Suspension Ball | e ool swer 51769964* 51769965
P Joint
‘ sB80 Control Amn Center 46421552
Bushing
TEKNOROT REF: F-1018S ADAPTABLEFOR FIAT
Suspension Control Arm

Weight: 3511 Length: 299  Bolt Metric. O

MODEL NO BODY CODE VEAR DIRECTIONS OEM NO
: Front Right
STRADA 2013 o 51769984
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ sB80 Lontrol Arm Center 46421552
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT REF: F-10189 ADAPTABLEFOR FIAT

Suspension Control Arm and
Ball Joint Assembly

Weight: 3999  Length: 3475  Bolt Metric: O

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
STRADA 2013- Front Left Lower 51769985
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

& F-1015 S”SDEJZ%‘;” B8l | Front Left Lower 51769985

‘ sB80 centrol Arm Center 46421552

Bushing
TEKNOROT REF. F-1019S ADAPTABLEFOR FIAT
Suspension Control Arm

Weight: 3511 Length: 299  Bolt Metric. O

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
STRADA 2013- Front Left Lower 51769985
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘ SB80 control Arm Center 46421552
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



Ve

TEKNOROT REF. F-1038 ADAPTABLE FOR RAM

Suspension Control Arm and
Ball Joint Assembly

4
F
£

=

n

Weight: 3544  Length: 361  Bolt Metric: O

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
PROMASTER CITY 2015- Front Right 6826322944
Lower
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
ia ; PA-104 Suspens/on Ball | Front Right 65263229A4
P Joint Lower
SB 1322
' SB623 Control Amn Center 552380, 55703232
Bushing
TEKNOROT REF. F-1039 ADAPTABLEFOR RAM
Suspension Control Arm and -
Ball Joint Assembly “
- . f \
1]
Weight: 3544  Length: 361  Bolt Metric: O
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
PROMASTERCITY 2015- Front Left Lower 68263981AA
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
P RA-105 S”SDQJZ%’?” Ball | ont Left Lower 6826308144
SB 1322
‘ SB623 Lontrol Arm Center 352360, 55703232
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



y
o ENOROT 2020

TEKNOROT REF: FO-1004 ADAPTABLEFOR FOR[
Suspension Ball Joint moog type
YEAR ONLY
1995-1997
Weight: 0627  Length: 868  Bolt Metric: M16X2
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
RK80393*, X\W1730780A*, RKBO394%,
CROWN VICTORIA 1stGen 1990-1997 Front Lower \W1730790A*
TEKNOROT REF: FO-1004 AOAPTABLEFOR R[]
Suspension Ball Joint moog type
YEAR ONLY
1998-2002
Weight: 0627 Length: 86,8  Bolt Metric:. M16X2
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
CROWN VICTORIA 2nd Gen 1998-2012  Frontlower ~ 1EU393" XW1Z3076DA" RKEO394"

XW125079DA*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



~\ TXNOROT

o1  TEE
\‘ STEERING 6 SUSPENSION PARTS berZUZU

TEKNOROT REF: FO-1004 ADAPTABLEFOR [ INCOLN
Suspension Ball Joint moog type P

YEARONLY 4
1995-1997 | 1.

Weight: 0627 Length: 868  Bolt Metric: M16X2

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
RK80393*, X\W1730780A*, RKBO394%,
TOWN CAR 1stGen 1990-1997 Front Lower \W17307904*

TEKNOROT REF: FO-1004 ADAPTABLEFOR [ INCOLN
Suspension Ball Joint moog type
YEAR ONLY
1998-2002
Weight: 0627  Length: 868  Bolt Metric: M16X2
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
RKB80393* XW1230780A* RK80394%,
TOWN CAR 2nd Gen 1998-2012 Front Lower \W17307904*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

k) STEERING 6§ SUSPENSION PARTS r2020

TEKNOROT REF: FO-1135 ADAPTABLEFOR FORD
Suspension Ball Joint

&

Weight: 05  Length: 121  Bolt Metric: M12X1,75

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
F-150 13th Gen 2015- Front Upper FL373084B% FL373085B*
TEKNOROT REF: FO-1154 ADATABLEFOR FOL)
Suspension Ball Joint moog type

Weight: 0714  Length: 1221  Bolt Metric: M16X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

THUNDERBIRD 11th Gen 2002-2005 Front Lower K500085, 6WA473K185AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: FO-1154 C enaee JAGUAR

Suspension Ball Joint USA Type-moog type

e I

2002-2005

Weight: 0,714  Length: 1221  Bolt Metric: M16X1,5

S-TYPE CCX 1999-2008 Front Lower K500085, BW4Z3K185AA

TEKNOROT REF: FO-1154 O oemsror LINCOLN

.S'uspens/an Ball Joint moog type

Weight: 0714  Length: 1221  Bolt Metric: M16X15

LS 2nd Gen 2003-2006 Front Lower K500085, 6WA473K185AA

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 27




[ =
{» T&XNOROT

TEKNOROT REF.: FO-1193
Steering Tie Rod

‘s—m

Weight: 0643  Length: 26885  Bolt Metric: M16X1,56  Housing Metric. M16X1,5

MODEL NO BODY CODE YEAR

FOCUS v 2018-

TEKNOROT REF: FO-1458
Lateral Arm

Weight: 2243  Length: 274

MODEL NO BOOY CODE YEAR
EDGE 2nd Gen 2015-
COMPONENTS NUMBER NAME
951099 Lateral Arm
Bushing

DIRECTIONS

Front

4X4

ADAPTABLEFOR FORD

OEMNO

2194056

ADAPTABLEFOR [FORD

r2020

DIRECTIONS

Rear Right Upper

DIRECTIONS

Rear

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

OEMNO

EIGZ55000

OEMNO

FR325500C*



ry
{5 T=NOROT

TEKNOROT REF. FO-1459 ADAPTABLEFOR FORD
Lateral Arm 4xX4

Weight: 2243  Length: 274

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
EDGE 2nd Gen 2015- Rear Left Upper E1G755000D
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB 1028 Lateral Am Rear FR375500C*
Bushing
TEKNOROT REF: FO-1458 ADAPTABLEFOR [ INCOLN
Lateral Arm 4x4

Weight: 2243  Length: 274

MODEL NO BODY CODE VEAR DIRECTIONS DEMNO
CONTINENTAL 2017- Rear Right Upper E1G755000
COMPONENTS NUMBER NAME DIRECTIONS DEMNO

SB1028 Lateral Amm Rear FR375500C*
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



y
o ENOROT 2020

TEKNOROT REF. FO-1459 ADAPTABLEFOR | INCOLN
Lateral Arm 4xX4

Weight: 2243  Length: 274

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
CONTINENTAL 2017- Rear Left Upper E1G755000D
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

SB 1028 Lateral Am Rear FR375500C*
Bushing
TEKNOROT REF: FO-1458 ADAPTABLEFOR [ INCOLN
Lateral Arm 4x4

Weight: 2243  Length: 274

MODEL NO BODY CODE VEAR DIRECTIONS DEMNO
MHX 2016- Rear Right Upper E1G755000
COMPONENTS NUMBER NAME DIRECTIONS DEMNO
SB1028 Lateral Amm Rear FR375500C*
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



Lt

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. FO-1459 ADAPTABLEFOR | INCOLN
Lateral Arm 4xX4

Weight: 2243  Length.: 274

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
MKX 2016- Rear Left Upper E1G755000D
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB1028 Lateral Arm Rear FR375500C*
Bushing
TEKNOROT REF: H-1036 wosmEEroR ACLIRA
Suspension Stabilizer Bar Link moog type

] .H.¢I ®

Weight: 0129  Length: 100  Bolt Metric: M8X1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

K90123, 513135F1000, 52316692010,

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




ry
{5 T=NOROT

TEKNOROT REF: H-1036
Suspension Stabilizer Bar Link

‘=

Weight: 0129  Length: 100  Bolt Metric: MBX1,25
MODEL NO BODY CODE
INTEGRA

TEKNOROT REF: H-1036
Suspension Stabilizer Bar Link

‘=

Weight: 0129  Length: 100  Bolt Metric: M8X1,25
MODEL NO BOOY CODE
cwic v

ADAPTABLEFOR ACUIRA
moog type
YEAR DIRECTIONS OEMNO
K90125, 513135F1000, 523166592010,
1994-2001 Front 90112SE0000
ADAPTABLEFOR HONDA

USA Type-moog type

YEAR DIRECTIONS

OEMNO

K90123, 513135F1000, 52316692010,

1988-1992 901125F0000

Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/A TECNOROT

STEERING 6 SUSPENSION PARTS DE'I'QUZU

TEKNOROT REF: H-1036 ADAPTABLEFOR HONDA
Suspension Stabilizer Bar Link USA Type-moog type

-

Weight: 0129  Length: 100  Bolt Metric: MBX1,25

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
K90123, 513135F1000, 52316692010,
cic v 1952-1996 Front 90112SE0000

TEKNOROT REF. H-1036 ADAPTABLE FOR. HONDA
Suspension Stabilizer Bar Link USA Type-moog type B . m

-

Weight: 0129  Length: 100  Bolt Metric: MBX1,25

j_esluiualﬁaﬁu’

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
K90123, 513135F1000, 52316692010,
cic % 19596-2001 Front 90112SE0000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A TSNOROT

k’ STEERING 6 SUSPENSION PARTS ! 2020

TEKNOROT REF: H-1036 ADAPTABLE FOR HONDA
Suspension Stabilizer Bar Link moog type

'.H. o

Weight: 0129  Length: 100  Bolt Metric: MBX1,25

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
K90125, 513135F1000, 523166592010,
CRX v 1887-1992 Front 90112SE0000

TEKNOROT REF: H-1068 ADAPTABLEFOR HONDA
Lateral Arm

:

Weight: 1013 Length: 394

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

ACCORD X 2013-2017 Rear Lower 52370T2AA00

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




A\ TXNOROT

OTE . TEE
K) STEERING 6 SUSPENSION PARTS er2020

TEKNOROT REF: H-1083 ADAPTABLE FOR HONDA
Steering Tie Rod

Weight: 0415  Length: 142  Bolt Metric: M14X15  Housing Metric: M14X1,5

MODEL NO BODY CODE VEAR DIRECTIONS DEMNO

ACCORD Vi 1998-2002 Front 5301087401
TEKNOROT REF: H-1093 T
Steering Tie Rod Automatic Transmission

Weight: 049  Length: 186  Bolt Metric: M14X15  Housing Metric: M18X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

ACCORD 2013-2017 Front Inner 53010T2BA0O1

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



Lt 200

STEERING 6 SUSPENSION PARTS

TEKNOROT REF.: HY-1028 ADAPTABLEFOR HYUNDA/!

Lateral Arm

—=

Weight: 1206  Length: 2775

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
SONATA 1% 2001-2004 Rear 55270358000
TEKNOROT REF: HY-10289 ADAPTABLE FOR HYUNDA/
Lateral Arm

e —

Weight: 0812  Length: 376  Bolt Metric: 376
MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

SONATA 1l 1998-2001 Rear Lower 5525038000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



(s TENOROT  TEE

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: HY-1029 ADAPTABLEFOR HYUNDA/!

Lateral Arm

e —

Weight: 0812  Length: 376  Bolt Metric: 376

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
SONATA 1% 2001-2004 Rear Lower 5525038000
TEKNOROT REF: HY-10289 ADAPTABLEFOR (I
Lateral Arm

e —

Weight: 0812  Length: 376  Bolt Metric.: 376
MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

MAGENTIS GO, MS 2001-2005 Rear Lower 55625038000

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{$ T=NOoROT

TEKNOROT REF: KI-688
Suspension Control Arm and

Ball Joint Assembly
) SRSECEN
Weight: 202  Length: 3055
MODEL NO BOOY CODE
RIO oc
COMPONENTS NUMBER
GO SB 453

TEKNOROT REF. HI-5689
Suspension Control Arm and

Ball Joint Assembly
& s
Weight: 202  Length: 3055
MODEL NO BODY CODE
RIO oe
COMPONENTS NUMBER
Fo 58 453

YEAR ONLY
2002-2005
YEAR DIRECTIONS
2000-2005 Front Right
NAME DIRECTIONS
Control Arm Front Right
Bushing Lower Inner
YEAR ONLY
2002-2005
YEAR DIRECTIONS
2000-2005 Front Left
NAME DIRECTIONS
Control Arm Front Right
Bushing Lower Inner

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR KA

OEMNO

54501FD000

OEMNO

K30B343006*

ADAPTABLEFOR KA

OEMNO

54500FD000

OEMNO

K50B34300B*




Lt

STEERING 6 SUSPENSION PARTS

TEKNOROT REF. LA-328 ADAPTABLEFOR | AND ROVER

Lateral Arm

e —

Weight: 213 Length: 6524

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
FREELANDER ILLN) 18998-2006 Rear RGDOOOOS0
TEKNOROT REF LX-324 JowemsEroR | EXLIS

by

Suspension Ball Joint RWD

,%\.

Weight: 1345  Length: 1927  Bolt Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
) Front Right
GS 4th Gen (L10) 2011 Lower 4333039865

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



N TNOROT

k STEERING 6 SUSPENSION PARTS ber2020

TEKNOROT REF: LX-325 ADAPTABLEFOR [ EXLIS
Suspension Ball Joint PWD

Weight: 1345  Length: 1927  Bolt Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
GS 4th Gen (L10) 2011- Front Left Lower 4354039625
TEKNOROT REF: M-1078 ADAPTABLEFOR MERCEDES
Lateral Arm

@ <

Weight: 0574  Length: 285

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
S-CLASS W222 V222 X222 2014- Rear Right 22253501402
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
‘£
<

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{» T&NOROT October 2020
TEKNOROT REF: M-1079  cwwacos MERCEDES

Lateral Arm

@?“‘ =~ 1—‘# ©

Weight: 0574  Length: 285

S-CLASS W220VI22X292  2014- Rear Left 2003501302
Lateral Arm 2013501953* A2213501255*
° 55981 Bushing Rear 2213501153
Control Arm 2019501153* A2213501155*
. 55586 Bushing rear 2213501253

TEKNOROT REF: M-521523 C semeseon MERCEDES

Steering Tie Rod Assembly Chasis no from:J126738

Weight: 1402  Length: 206 Bolt Metric: M14X1,6  Housing Metric: M14X1,5

A-CLASS Wi169 2004-2012 Front Right 1695300603*

H M-521 Tie Rod End Front Right 1693300603

/‘ M-523 Axial Joint Front 1693300403, 1693500703

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 41



o T=XNOROT October 2020
TEKNOROT REF: M-522523  cwwacos MERCEDES

Steering Tie Rod Assembly Chasis no from:/126738

Weight: 1402  Length: 206 Bolt Metric: M14X1,5  Housing Metric. M14X1,5

A-CLASS Wi69 2004-2012 Front Left 1693300705*

‘—f M-522 Tie Rod End Front Left 1693300503

M-523 Axial Joint Front 1695300403, 1693300703

TEKNOROT REF: M-521523 C semeseon MERCEDES

Stee_r/hg Tie Rod Assembly

Weight: 1402  Length: 206 Bolt Metric: M14X1,6  Housing Metric: M14X1,5

B-CLASS 2005-2011 Front Right 1695300603*

H M-521 Tie Rod End Front Right 1693300603

/‘ M-523 Axial Joint Front 1693300403, 1693500703

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 42



TEKNOROT REF: M-522523
Steering Tie Rod Assembly

Vo

Weight: 1402  Length: 206 Bolt Metric: M14X1,5  Housing Metric. M14X1,5
MODEL NO BOODY CODE YEAR DIRECTIONS
B-CLASS 2005-2011 Front Left
COMPONENTS NUMBER NAME DIRECTIONS
‘H M-522 Tie Rod End Front Left
_,-—Q M-523 Axial Joint Front
TEKNOROT REF: MA-8882
Lateral Arm
Weight: 3678  Length: 594
MODEL NO BODY CODE YEAR DIRECTIONS
CX-5 KE 2011-2017  Rear Right Lower
COMPONENTS NUMBER NAME DIRECTIONS
SB 1370

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

2020

ADAPTABLEFOR MERGCEDES

OEMNO

1693300705*

OEMNO

1693300503

16933004085, 1693300703

ADAPTABLEFOR MIAZ A

OEMNO

KD3528350

OEMNO



! a

TEKNOROT REF: MA-8892 ADAPTABLEFOR MIAZ A
Lateral Arm

4
F
£

—

Weight: 3878  Length: 594

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
CX-5 KE 2011-2017  Rear Left Lower KD3528300
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB 1370
TEKNOROT REF: MN-168K ADATABLEFOR MINY
Suspernsion Control Arm Kit with bushing

.

x .L. _;at

Weight: 6,062  Length: 368

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
: Front Right
COOPER F55,F56 2014 Lower 311268503398
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB1117

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



Ve

TEKNOROT REF: MN-169K

4
F
£

Suspension Control Arm Kit

with bushing
Weight: 6,062  Length: 388
MODEL NO BOOY CODE YEAR DIRECTIONS
COOPER F55,F56 2014- Front Left Lower
COMPONENTS NUMBER NAME DIRECTIONS
SB1117
TEKNOROT REF: MN-170
Suspension Control Arm MN-168+MN-169+bushes
Repair Kit
Weight: 12124  Length: O
MODEL NO BODY CODE YEAR DIRECTIONS
COOPER F55,F56 2014- Front Lower
COMPONENTS NUMBER NAME DIRECTIONS
Control Arm .
veil A SB1003 Bushing Front Right
Control Arm
fj“'{ A 581004 i Front Left

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR MIN/

OEMNO

31126850397

OEMNO

ADAPTABLEFOR MIN/

OEMNO

31126850398 51126850397*

OEMNO

31126874342

31126874341



TEKNOROT REF. N-1016 ADAPTABLEFOR JNFINITT
Suspension Stabilizer Bar Link AWD
YEAR ONLY
S 4 | 2004-2006
T
Weight: 0335  Length: 71  Bolt Metric: M12X1,25
MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
G35 2003-2008  Front Right 5461840300
TEKNOROT REF. N-1017 ADAPTABLEFOR JNFINITT
Suspension Stabilizer Bar Link AWD
YEAR ONLY
2004-2006
Weight: 0335  Length: 71  Bolt Metric: M12X1,25
MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
G35 2003-2008 Front Left 5466840300

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



! a

TEKNOROT REF: N-1088 ADAPTABLEFOR N{SSAN
Lateral Arm

4
F
£

Weight: 6,741  Length.: 3165

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
PATHFINDER R51 2005-2014  Rear Right Lower 551A0EB300, 551A0EB31A
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
r‘k‘l .
6 N-591 S“SDEJZ%‘;” Ball | pear Lower 551A0FB300* 551A0FB3IA*
TEKNOROT REF: N-1089 ADAPTABLEFOR NIISSAN
Lateral Arm

Weight: 6,741  Length: 3165

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
PATHFINDER R51 2005-2014  Rear Left Lower 551A1EB300, 551A1EB31A
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
= )
e N-591 S ”SDQJZ%’?” Ball | poar Lower 551A0EB300* 551A0EB31A*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



‘A TEXNOROT
4&) STEERING § SUSPENSION PARTS

TEKNOROT REF: N-1098 ADAPTABLEFOR INFINITT

Suspension Control Arm and
Ball Joint Assembly

Weight: 2756 Length: 334  Bolt Metric: M14X15

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
OX56 1st Gen 2004-2010 i ‘ZZ [féfm 545247R00A, 545247R008
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
T ,

8 N-1024 SUSQQJZ%‘;” Ball | tront Upper 545247R00A* 545247R00B*
TEKNOROT REF: N-1098 ADAPTABLEFOR INFINITY
Suspension Control Arm and
Ball Joint Assembly
Weight: 2756 Length: 334  Bolt Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
Front Right
0X56 ond Gen 2010-2013 Lol 545247R00A, 545247R008
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
T )
8 N-1024 SUSD@Z%‘?” Bal |\ rront Upper 545247R00A* 545247R00B*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



ry
{5 T=NOROT

TEKNOROT REF: N-1098

Suspension Control Arm and
Ball Joint Assembly

Weight: 2756  Length: 334  Bolt Metric: M14X1,5
MODEL NO BOOY CODE YEAR DIRECTIONS
. Front Right
ARMADA WABO0 2003-2016 Upper
COMPONENTS NUMBER NAME DIRECTIONS
o .
i Suspension Ball
9 N-1024 it Front Upper
TEKNOROT REF: N-1098
Suspension Control Arm and
Ball Joint Assembly
Weight: 2756 Length: 334  Bolt Metric: M14X1,5
MODEL NO BOOY CODE YEAR DIRECTIONS
. Front Right
TITAN 1stGen 2003-2015 Upper
COMPONENTS NUMBER NAME DIRECTIONS
o .
: Suspension Ball
‘ N-1024 it Front Upper

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

020

ADAPTABLEFOR NIISSAN

OEMNO

545247R00A, 545247R00B

OEMNO

545247R00A* 545247R00B*

ADAPTABLEFOR NISSAN

545247R00A, 545247R00B

OEMNO

545247R00A* 545247R00B*



‘A TEXNOROT
4&) STEERING § SUSPENSION PARTS

TEKNOROT REF: N-1099 ADAPTABLEFOR INFINITT

Suspension Control Arm and
Ball Joint Assembly

Weight: 2756 Length: 334  Bolt Metric: M14X15

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
0X56 1st Gen 2004-2010  Front Left Upper 545257R004, 545257R008
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

T ,

8 N-1024 SUSQQJZ%‘;” Ball | tront Upper 545247R00A* 545247R00B*
TEKNOROT REF: N-1099 ADAPTABLE FOR JINEINITT
Suspension Control Arm and
Ball Joint Assembly

Weight: 2756 Length: 334  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO
0ox56 2nd Gen 2010-2013  Front Left Upper 545257R00A, 545257R00B
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
T )
8 N-1024 SUSD@Z%‘?” Ball | rront Uper 545247R00A* 545247R00B*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



RJ STEERING 6 SUSPENSION PARTS

TEKNOROT REF: N-1099 ADAPTABLEFOR NISSAN

Suspension Control Arm and
Ball Joint Assembly

Weight: 2756  Length: 334  Bolt Metric: M14X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
ARMADA WABO 2003-2016  Front Left Upper 545257R004, 545257R008
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

T ,

8 N-1024 S“Spejg%‘;” Ball | tront Upper 545247R00A* 545247R00B*
TEKNOROT REF: N-1099 ADAPTABLEFOR NJSSAN
Suspension Control Arm and
Ball Joint Assembly

Weight: 2756 Length: 334  Bolt Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS
TITAN 1stGen 2003-2015  Front Left Upper 545257R00A, 545257R008B
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
T )
8 N-1024 S ”SDQJZ%’?” Ball | rront Uper 545247R00A* 545247R00B*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

{5 TXNOROT 020




k}]ﬁ!ﬁ’ﬁﬁﬁ[ 2020
TEKNOROT REF: SE-401923 ADAPTABLEFOR /(0L KSWAGEN

Steering Tie Rod Assembly Chassis no. to: 6R-F-000
001

s

Weight: 1414  Length. 313  Bolt Metric: M12X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
POLO (6R] 2009-2017  FrontRight 6R0423810", 6204196810C*
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
4 SE-401 Tie Rod End Front Right 6RD4238124, 6R04238123
— V-923 Axial Joint Front 6R0423810, 870419610C
TEKNOROT REF. SE-401923 ADAPTABLEFOR SKODA
Steering Tie Rod Assembly for PR number: IN2

s

Weight: 1414  Length. 313  Bolt Metric: M12X1,5  Housing Metric: M14X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEMNO
RAPID 2012- Front Right B6R0O423810%, 8204198810C*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
4 SE-401 Tie Rod End Front Right B6RD423812A, 6RD423812B
A V-923 Axial Joint Front b6R0O425810, 8204196100

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



[ =
{» T&XNOROT

TEKNOROT KEF. SE-401923 ADAPTABLEFOR SEAT
Steering Tie Rod Assembly to-2015

s

B )

Weight: 1414  Length. 313  Bolt Metric: M12X1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO
1BIZA V (6R] 2008-2017  Front Right 6R0423810", 6204196810C*
COMPONENTS NUMBER NAME DIRECTIONS OEMNO
4 SE-401 Tie Rod End Front Right 6RD4238124, 6R04238123
— V-923 Axial Joint Front 6R0423810, 870419610C
TEKNOROT REF.: SE-4025923 ADAPTABLEFOR [/OLKSWAGEN
Steering Tie Rod Assembly Chassis no. to: 6R-F-000
001

T-
h«—-—!ﬂs

Weight: 1414  Length: 313  Bolt Metric: M12X15 — Housing Metric: M14X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS OEMNO
POLO (6R] 2009-2017 Front Left BR0O423810%, 8204198810C*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
k SE-402 Tie Rod End Front Left 600423611A 6004236110
A V-923 Axial Joint Front b6R0O425810, 8204196100

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm




{$ T=NOoROT

TEKNOROT REF. SE-402923
Steering Tie Rod Assembly for PR number: IN2

Weight: 1414 Length: 313  Bolt Metric: M12X15  Housing Metric. M14X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS
RAPID 2012- Front Left
COMPONENTS NUMBER NAME DIRECTIONS
k SE-402 Tie Rod End Front Left
e [ V-923 Axial Joint Front

TEKNOROT REF.: SE-4025923
Steering Tie Rod Assembly to-2015

Weight: 1414  Length. 313  Bolt Metric: M12X1,5  Housing Metric: M14X1,5

MODEL NO BOODY CODE YEAR DIRECTIONS
/BIZA V (BR] 2008-2017 Front Left
COMPONENTS NUMBER NAME DIRECTIONS
k SE-402 Tie Rod End Front Left
— V-923 Axial Joint Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ADAPTABLEFOR SHODA

OEMNO

b6R0O425810%, 8204198610C*

OEMNO

600423811A, 6004238110

BR0O423810, 8204196100

ADAPTABLEFOR SEAT

OEMNO

bRO423810% 8204196810C*

OEMNO

600423811A, 6004236110

b6R0O425810, 8204196100



/A TECNOROT

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: T-10381

Suspension Control Arm and
Ball Joint Assembly

Weight: 241  Length: 310  Bolt Metric: M14X1,5
MODEL NO BODY CODE
TACOMA
COMPONENTS NUMBER
*
T-255

TEKNOROT REF: T-10391

Suspension Control Arm and
Ball Joint Assembly

Weight: 241  Length: 310  Bolt Metric: M14X1,5
MODEL NO BODY CODE
TACOMA
COMPONENTS NUMBER
*
T-255

PRE-RUNNER TYPE
YEAR DIRECTIONS
2005-2015 Front Right
Upper
NAME DIRECTIONS
Ball Joint Front
PRE-RUNNER TYPE

YEAR

2005-2015

NAME

Ball Joint

DIRECTIONS

Front Left Upper

DIRECTIONS

Front

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

ober 2020

ADAPTABLEFOR TQYOTA

OEMNO

4861004020

OEMNO

4351009015

ADAPTABLEFOR TYOTA

OEMNO

4865004020

OEMNO

43531009015



{5 T=XNOROT

TEKNOROT REF. V-1001 ADAPTABLEFOR AL/
Steering Tie Rod End Facelift
YEAR ONLY
2015 TR

-

. o

Weight: 042  Length: 94  Bolt Metric: M12X1.56  Housing Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
Al 2010-2018 Front Right 6004236124
TEKNOROT REF: V-1001 ADAPTABLEFCR SEA T
Steering Tie Rod End Facelift
YEAR ONLY

2015-2017

Weight: 042  Length: 94  Bolt Metric: M12X1,5  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

/BIZA 6P 2008-2017 Front Right 6004238124

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



A\ TXNOROT

K) STEERING 6 SUSPENSION PARTS r2020

TEKNOROT REF. V-1001 ADAPTABLEFOR SHODA
Steering Tie Rod End

Weight: 042  Length: 94  Bolt Metric: M12X1.56  Housing Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
FABIA I 2014- Front Right 6004236124
TEKNOROT REF: V-1001 ADAPTABLEFOR VOLKSWAGEN
Steering Tie Rod End Facelift
YEAR ONLY

2014-2017

Weight: 042  Length: 94  Bolt Metric: M12X1,5  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

POLO (6R] 2009-2017 Front Right 6004238124

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



-
{5 TXNOROT

TEKNOROT REF: V-1002

Steering Tie Rod End Facelift

YEAR ONLY
2015-

Weight: 042  Length: 94  Bolt Metric: M12X1.56  Housing Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS
Al 2010-2018 Front Left
TEKNOROT REF. V-1002
Steering Tie Rod End Facelift
YEAR ONLY
2015-2017

Weight: 042  Length: 94  Bolt Metric: M12X1,5  Housing Metric. M14X1,5

MODEL NO BODY CODE YEAR

IBIZA 6P 2008-2017

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

DIRECTIONS

Front Left

er 2020

ADAPTABLEFOR ALJ/

OEMNO

600423811A

ADAPTABLEFOR SEAT

OEMNO

600423811A



Lt

STEERING 6 SUSPENSION PARTS

TEKNOROT REF: V-1002 ADAPTABLEFOR SHODA
Steering Tie Rod End

Weight: 042  Length: 94  Bolt Metric: M12X1.56  Housing Metric: M14X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEMNO
FABIA I 2014- Front Left 600423611A
TEKNOROT REF. V-1002 ADAPTABLEFOR VOLKSWAGEN
Steering Tie Rod End Facelift
YEAR ONLY
2014-2017

Weight: 042  Length: 94  Bolt Metric: M12X15  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

POLO (6R] 2009-2017 Front Left 600423811A

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



{5 T&XNOROT

TEKNOROT REF: V-1028 ADAPTABLEFOR /OL KSWAGEN
Suspension Control Arm For max 3.2 ton

Weight: 83913  Length. 3935

MODEL NO BOODY CODE YEAR DIRECTIONS OEM NO
TRANSPORTER 75 2003-2011 i ‘Z’; rwgggn ! 7H84071528
COMPONENTS NUMBER NAME DIRECTIONS OEM NO

Control Arm 7EB407152A% 7EB4071528%
' S5 1047 Bushing Front 7E84071514%, 7E84071518*
i 251048 Confro/’Arm Front Lower 2604071510
Bushing Inner
TEKNOROT REF: V-1029 ADAPTABLEFOR /OL KSWAGEN
Suspension Control Arim For max 3.2 ton

Weight: 8913  Length: 3935

MODEL NO BODY CODE VEAR DIRECTIONS OEMNO
TRANSPORTER 75 2003-2011  Front Left Lower 7H8407151B
COMPONENTS NUMBER NAME — DIRECTIONS OEMNO

B oo S o | Rommos
i SB1048 v %?g mo| e ower 7E0407151C*

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF.: V-6785 ADAPTABLEFOR SHODA
Suspension Control Arm

Weight: 3194  Length: 340

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
. Front Right .
SUPERB 2015 e 3004071526
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB838 Control Amn Rear 500407183E, GO52150A2
Bushing
‘ SB 487 Control Amn Center 1K0407182 500407182
Bushing
TEKNOROT REF: V-678S ADAPTABLEFOR /OL KSWAGEN
Suspension Control Arm

Weight: 3194  Length: 340

MODEL NO BOOY CODE VEAR DIRECTIONS OEM NO
: Front Right ”
PASSAT 2014 o 300407152€
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB838 Lontrol Arm Rear 500407183F, GO52150A2
Bushing
‘ SB487 Lontrol Arm Center 1KO407162, 500407182
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



/A TECNOROT

STEERING 6 SUSPENSION PARTS ber2020

TEKNOROT REF.: V-6785 ADAPTABLEFOR /OLKSWAGEN
Suspension Control Arm -

Weight: 3194  Length: 340

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
: Front Right .
TIGUAN 2016 e 3004071526
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB838 Control Amn Rear 500407183E, GO52150A2
Bushing
‘ SB 487 Control Amn Center 1K0407182 500407182
Bushing
TEKNOROT REF: V-679S ADAPTABLEFOR SHOA
Suspension Control Arm

Weight: 3194  Length: 340

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
SUPERB 2015- Front Left Lower 300407151F*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB838 Lontrol Arm Rear 500407183F, GO52150A2
Bushing
‘ SB487 Lontrol Arm Center 1KO407162, 500407182
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: V-6795 ADAPTABLEFOR VOLKSWAGEN
Suspension Control Arm

Weight: 3194  Length: 340

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
PASSAT 2014- Front Left Lower 300407151F*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB838 Control Amn Rear 500407183E, GO52150A2
Bushing
‘ SB 487 Control Amn Center 1K0407182 500407182
Bushing
TEKNOROT REF: V-679S ADAPTABLEFOR /OL KSWAGEN
Suspension Control Arm -

Weight: 3194  Length: 340

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
TIGUAN 2016- Front Left Lower 300407151F*
COMPONENTS NUMBER NAME DIRECTIONS OEM NO
SB838 Lontrol Arm Rear 500407183F, GO52150A2
Bushing
‘ SB487 Lontrol Arm Center 1KO407162, 500407182
Bushing

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: VO-847 ADAPTABLEFOR /(0L VO
Suspension Stabilizer Bar Link

Weight: 0356  Length: 2765  Bolt Metric: M10X1,5

MODEL NO BOOY CODE YEAR DIRECTIONS OEM NO
XC40 2018- Front 32221271
TEKNOROT REF.: VO-861 ADAPTABLEFOR VOL VO
Steering Tie Rod End

= Q;i:-\

Weight: 0,757  Length: 2075  Bolt Metric. M10OX1,5  Housing Metric: M14X1,5

MODEL NO BODY CODE YEAR DIRECTIONS OEMNO

XC40 1stGen 2018- Front Right 32221546

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm



TEKNOROT REF: VO-862
.S'teer/hg Tie Rod End |

Weight: 0757  Length: 2075  Bolt Metric: MI0OX1,5 — Housing Metric: M14X1,5

XC40 1stGen 2018- Front Left 32221545

Units: Weight in kg / Length in mm / Bolt Metric in mm / Housing Metric in mm

www.teknorot.com 65




